C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
1) A mail sorting machine can sort 186 pieces of mail an hour. If it ran for 833 hour, how
many pieces of mail would it have sorted? 1.
2.
2) A golf course driving range goes through 746 golf balls a day. How many golf balls would
they go through in 977 days? 3.
4.
3) A pallet of toggle bolts weighs 173 kilograms. If awarehouse has 578 pallets, what is their
total weight? 5.
6.
4) A gas station sells 168 gallons of gas an hour. How much gas would they have sold after
408 hours? 7.
8.
5) In{NYC} each mail truck has 944 pieces of junkmail. If there are 883 mail trucks, how
much junk mail do they have total ? 9.
10.

6) A school district ordered 277 new science text books. If each text book had 435 pagesin it,
how many pages are there total in al the text books?

7) A charity fundraiser charges 495 dollars per plate. If there are 924 guests at the fundraiser,
how much money did they earn?

8) A video game company can fit 894 boxes of gamesinto atruck. If they have 641 full
trucks, how many boxes of games do they have total ?

9) A farmer has 102 rows of corn. If he can get 244 ears of corn from each row, how many
ears of corn would he have total ?

10) Dave was collecting cans for recycling. In 5 months he had collected 563 bags with 162
cans inside each bag. How many cans did he have total ?
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ﬂh Finding Product (3 x 3) Name: Answer Key

Solve each problem. Answers
1) A mail sorting machine can sort 186 pieces of mail an hour. If it ran for 833 hour, how
many pieces of mail would it have sorted? 1 154,938
2. 128,842
2) A golf course driving range goes through 746 golf balls a day. How many golf balls would
they go through in 977 days? 3. 99,994
4. 68,544
3) A pallet of toggle bolts weighs 173 kilograms. If awarehouse has 578 pallets, what is their
total weight? 5. 833,552
6. 120,495
4) A gas station sells 168 gallons of gas an hour. How much gas would they have sold after
408 hours? 7 457,380
g. 573,054
5) In{NYC} each mail truck has 944 pieces of junkmail. If there are 883 mail trucks, how
much junk mail do they have total ? 9. 24,888
10. 91,206

6) A school district ordered 277 new science text books. If each text book had 435 pagesin it,
how many pages are there total in al the text books?

7) A charity fundraiser charges 495 dollars per plate. If there are 924 guests at the fundraiser,
how much money did they earn?

8) A video game company can fit 894 boxes of games into atruck. If they have 641 full
trucks, how many boxes of games do they have total ?

9) A farmer has 102 rows of corn. If he can get 244 ears of corn from each row, how many
ears of corn would he have total ?

10) Dave was collecting cans for recycling. In 5 months he had collected 563 bags with 162
cans inside each bag. How many cans did he have total ?
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C:# Finding Product (3 x 3) Name:

Solve each problem. Answers
573,054 99,994 24,888 833,552 120,495
91,206 154,938 728,842 457,380 68,544 1.
1) A mail sorting machine can sort 186 pieces of mail an hour. If it ran for 833 hour, how 5
many pieces of mail would it have sorted? '
3.
2) A golf course driving range goes through 746 golf balls aday. How many golf balls would
they go through in 977 days? 4.
5.
3) A pallet of toggle bolts weighs 173 kilograms. If awarehouse has 578 pallets, what is their
total weight? 6.
7.
4) A gas station sells 168 gallons of gas an hour. How much gas would they have sold after
408 hours? 8.
9.
5 In{NYC} each mail truck has 944 pieces of junkmail. If there are 883 mail trucks, how
much junk mail do they have total? 10

6) A school district ordered 277 new science text books. If each text book had 435 pagesin it,
how many pages are there total in al the text books?

7) A charity fundraiser charges 495 dollars per plate. If there are 924 guests at the fundraiser,
how much money did they earn?

8) A video game company can fit 894 boxes of games into atruck. If they have 641 full
trucks, how many boxes of games do they have total ?

9) A farmer has 102 rows of corn. If he can get 244 ears of corn from each row, how many
ears of corn would he have total ?

10) Dave was collecting cans for recycling. In 5 months he had collected 563 bags with 162
cans inside each bag. How many cans did he have total ?
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